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Show all your work
MULTIPLE CHOICE QUESTIONS 
1. The adjacent figure is the graph of 
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2. The graph of 
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 is symmetric with respect to

a) the 
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axis only
b) the 
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axis only

c) the origin only

d) the 
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axis and the origin
e) the 
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3. If the graph of 
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 is shifted left horizontally one unit and up vertically two units , then the equation of the new graph is
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4. Which of the following numbers is in the range of the function    
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5. The maximum area (in square meters) of a rectangle that has perimeter 1600 meters is equal to
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6. If 
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is the axis of symmetry of the parabola 
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7. If 
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8. The domain of 
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    9. Let 
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   10. Which of the following is FALSE 

          a) 
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 is an even function

          b) 
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          c)  
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          d) 
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          e) 
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 is a neither even nor odd function
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